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1 Introduction
In last RAN4 meeting, a WF[1] about NR V2X RRM requirement was approved. The open issues about synchronization are listed below.
	RAN4 #94-e
· Rx drop rate for selection/reselection of NR V2X synchronization reference source
· X=2slots, Y=0.3%, Tdetect,SyncRef UE_V2X = [8]sec for FR1 all SCS
· If technical issue is found, it needs to be revised.
· Terminology ‘S-RSRP’ vs ‘PSBCH-RSRP’
· Postpone discussion till RAN4 #94bis


In this paper, we will discuss on the above open issues about synchronization.
2 Terminology
In current stage, RAN1 still didn’t have an agreement on which RS shall be used for S-SSB RSRP calculation on initiation/cease of SLSS transmission. Thus, RAN4 shall still wait RAN1’s agreement on whether using S-RSRP or PSBCH-RSRP in RAN4’s requirement.
[bookmark: _Ref30692757]Proposal 1: Postpone the discussion of S-RSRP and PSBCH-RSRP till RAN1 has an agreement. 
3 Reselection the Synchronization Reference Source 
In last meeting, we have a concern on whether it shall define the requirement on Rx dropping rate for reselection the synchronization reference source. The reason is that if the UE reselects to a new synchronization reference source which is a-synchronized with current communication UEs, the communication will be dropped, assuming that UE is not required to communicate with 2 a-synchronized targets at the same time. 
When we re-visit the reselect of synchronization reference procedure in legacy LTE V2X, the UE shall perform a full search to detect candidate SLSS once the UE is out of coverage. After that the UE will decide whether to reselect to a new synchronization reference. In order to make such a decision, the UE has to decode the PSBCH to read the MIB information from the candidate synchronization UEs. The main action leading to interruption is the PSBCH decoding, while whether UE will change its sync source is determined in later stage. If UE decides to reselect to the new synchronization UE, it means current communication will be failed, but if UE decides NOT to reselect to the new synchronization UE, the current communication will be still on-going. The Rx dropping requirement shall be defined for the later situation. Thus, we think it’s reasonable to define the requirement on Rx dropping rate.
[bookmark: _Ref31893525]Proposal 2: RAN4 shall define the Rx dropping rate requirement.  
4 Summary
In this paper, we have some discussion on synchronization related requirement.
Proposal 1: Postpone the discussion of S-RSRP and PSBCH-RSRP till RAN1 has an agreement.
Proposal 2: RAN4 shall define the Rx dropping rate requirement.  
5 Reference
1. R4-2002230, “WF on NR V2X RRM requirement”, LG Electronics, Mediatek
